Mots alignés: I’imparfait

blc|d|e |f |g|/h]|]i |j |[k|l]l [m|n |o |p |q |[r |s [t |u|v |w|x |y |z

o

. étre, 2 PS -4

. manger, 3 PP -6

. prier, 1 PP -5

. avoir, 1 PS - 14

. voyager, 1 PP -3
. voir, 2 PP +0
. vendre, 1 PS *12
. aller, 2 PP -6
. doser, 2 PS *+15
. briser, 3 PP - 19

. tourner, 3 PS +10
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. venir, 1 PP 14

. dormir, 2 PP -6
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. respirer, 1 PS +9
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. apercevoir, 2 PS
. lire, 3 PS - 15
. plier, 2 PP -6

. vivre, 3 PP -13
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. dire, 1 PP +3
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. aimer, 1 PS -4
. mettre, 2 PP +4
. sortir, 3 PS -2
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. courir, 3 PP -9

. faire, 1 PP +5
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25. rire, 3 PS -15

Tu as un message:
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Mots alignés: ’imparfait (corrigé)
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Tu as un message:

. étre, 2 PS

. manger, 3 PP
. prier, 1 PP

. avoir, 1 PS

. voyager, 1 PP
. voir, 2 PP

. vendre, 1 PS
. aller, 2 PP

. doser, 2 PS

. briser, 3 PP

. tourner, 3 PS
. venir, 1 PP

. dormir, 2 PP

. respirer, 1 PS

. apercevoir, 2 PS
. lire, 3 PS

. plier, 2 PP

. vivre, 3 PP

. dire, 1 PP

. aimer, 1 PS

. mettre, 2 PP

. sortir, 3 PS

. courir, 3 PP

. faire, 1 PP
rire, 3 PS
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